A
DPAA PAA PMAA A
DPAA DPAA
7.1
7.1.1
A
A
7.1.1
A 150 300 200 300 500
A
300
A A 10cm
48800 61 X40=2440 20
7.1.2
128
A 60cm
A
7.1.1 7.1.2 7.1.4
7.1.1
cm/sec
X Y 7 1/c
B 1.00E-03 1.00E-03 1.00E-03 2.00E-05 0.4
As 5.00E-03 5.00E-03 5.00E-03 2.00E-05 0.3
Ag 7.00E-03 7.00E-03 7.00E-03 1.00E-06 0.3
Dsl1.2 3.00E-03 3.00E-03 3.00E-03 4.00E-05 0.3
Dg1l 5.00E-03 5.00E-03 5.00E-03 1.00E-06 0.3
Dg2 1.00E-01 1.00E-01 1.00E-01 5.00E-07 0.3
Dc 1.00E-06 1.00E-06 1.00E-06 2.00E-05 0.3
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A
7.1.2
7.1.2

35 15 30 15 20
35 15 30 40 30
30 35 20 50 70 20
45 50 15 20 50 70 5 10
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